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QUESTION 1

Refer to the exhibit. 

Looking at the topology diagram and the partial router configurations shown, which statement is true? 

A. A routing loop will occur due to mutual route redistribution occurring on R1 and R2. 

B. Suboptimal routing will occur due to mutual route redistribution occurring on R1 and R2. 

C. Additional route filtering configurations using route maps and ACLs are required on the R1 and R2 routers to prevent
routing loops. 

D. R2 will not be able to redistribute the EIGRP subnets into OSPF, because R2 is missing the default seed metric for
OSPF. 

E. The 10.1.1.0/24 subnet will appear as 10.0.0.0/8 in the R5 routing table. 

Correct Answer: E 

RIPv1 is a classful routing protocol so the subnet 10.1.1.0/24 will be summarized to 10.0.0.0/8 in the R5 routing table. If
we use RIPv2 on R1, R5 and use the "no auto-summary" command on R1 then the 10.1.1.0 subnet will appear in the
routing table of R5. Notice that even if the "auto-summary" command is configured under "router eigrp 1 of R1 but when
redistributing into another routing protocol EIGRP still advertises the detailed network. 

 

QUESTION 2
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Study the exhibit below carefully. 

In order to summarize all routes from area 0 to area 1, what must be configured on the router? 

A. area 0 range 172.16.96.0 255.255.224.0 

B. area 1 range 172.16.96.0 255.255.224.0 

C. area 1 range 172.16.96.0 255.255.0.0 

D. area 0 range 172.16.96.0 255.255.255.0 

Correct Answer: A 

This identifies area 0 as the area containing the range of networks to be summarized. The networks will be summarized
into area 1. The ABR R1 summarizes the range of subnets from 172.16.32.0 to 172.16.63.0 into one range:
172.16.32.0 

255.255.224.0. 

 

QUESTION 3

Why should iBGP sessions be fully meshed within a Transit AS? 

A. BGP requires redundant TCP sessions between iBGP peers. 

B. A full mesh allows for optimal routing within the Transit AS. 

C. Routes learned via iBGP are never propagated to other eBGP peers. 

D. Routes learned via iBGP are never propagated to other iBGP peers. 

E. Routes learned via eBGP are never propagated to other iBGP peers. 

Correct Answer: D 

Any two routers that have formed a TCP connection in order to exchange BGP routing information are called peers or
neighbors. It is important to remember that the BGP peers will never become established unless there is IP connectivity
between the two peers. BGP does not advertise routes learned by way of IBGP peers to other IBGP peers. If BGP did,
BGP routing inside the AS would present a dangerous potential for routing loops. For IBGP routers to learn about all
BGP routes inside the AS, they must connect to every other IBGP router in a full IBGP mesh. This full mesh needs to be
only logical, not physical. In other words, as long as the IBGP peers can connect to each other using TCP/IP, a logical
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full mesh can be created even if the routers are not directly connected 

 

QUESTION 4

Which three route filtering statements are true? (Choose three) 

A. After the router rip and passive-interface s0/0 commands have been issued, the s0/0 interface will not send any RIP
updates, but will receive routing updates on that interface. 

B. After the router eigrp 10 and passive-interface s0/0 commands have been issued, the s0/0 interface will not send any
EIGRP updates, but will receive routing updates on that interface 

C. After the router ospf 10 and passive-interface s0/0 commands have been issued , the s0/0 interface will not send any
OSPF updates, but will receive routing updates on that interface 

D. When you use the passive-interface command with RIPv2, multicasts are sent out the specified interface 

E. When you use the passive-interface command with EIGRP, hello messages are not sent out the specified interface 

F. When you use the passive-interface command with OSPF, hello messages are not sent out the specified interface 

Correct Answer: AEF 

Passive-interface command is used in all routing protocols to disable sending updates out from a specific interface.
However the command behavior varies from o ne protocol to another" 

- In RIP, this command will not allow sending multicast updates via a specific interface but will allow listening to
incoming updates from other RIP speaking neighbors. This means that the router will still be able to receive updates o n
that passive interface and use them in its routing table. In EIGRP and OSPF the passive-interface command stops
sending outgoing hello packets, hence the router can not form any neighbor relationship via the passive interface. This
behavior stops both outgoing and incoming routing updates. 

 

QUESTION 5

Refer to the exhibit. 
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OSPF is running throughout the network and RIP is being redistributed into OSPF in R2. You want to minimize the
propagation of LSAs into and out of Area 1. Which OSPF feature would be best to achieve this goal? 

A. stub 

B. totally stubby 

C. NSSA 

D. totally NSSA 

Correct Answer: D 

We need to redistribute RIP from R1 to Area 1 so Area 3 cannot be a stub or totally stubby area. To minimize the
propagation of LSAs into and out of Area 1 we should configure it as a totally NSSA. Notice that a NSSA allows LSA
Type 3 and 7 

while a Totally NSSA only allows LSA Type 7 

Note: 

Both Totally Stubby Area and Totally Stubby NSSA do not accept external AS routes or inter- area routes (LSA Types 3,
4 and 5). They recognize only intra-area routes and the default route 0.0.0.0. The main difference between them is
Totally 

Stubby NSSA accepts routes from other AS while Totally Stubby Area does not. 
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Below summarizes the LSA Types allowed and not allowed in area types: 

Area Type Type 1 and 2 Type 3 (from Type Type Type 

(within area) other areas) 4 5 7 

Standard and Yes Yes Yes Yes No 

backbone 

Stub Yes Yes No No No 

Totally stubby Yes No No No No 

NSSA Yes Yes No No Yes 

Totally (stubby) Yes No No No Yes 

NSSA 

Latest 642-902 Dumps 642-902 PDF Dumps 642-902 VCE Dumps

Latest 642-902 Dumps | 642-902 PDF Dumps | 642-902 VCE Dumps                                6 / 7

https://www.passapply.com/642-902.html
https://www.passapply.com/642-902.html
https://www.passapply.com/642-902.html
https://www.passapply.com/642-902.html
https://www.passapply.com/642-902.html
https://www.passapply.com/642-902.html


https://www.passapply.com/642-902.html
2021 Latest passapply 642-902 PDF and VCE dumps Download

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success
100% Money Back Guarantee
365 Days Free Update
Instant Download After Purchase
24x7 Customer Support
Average 99.9% Success Rate
More than 800,000 Satisfied Customers Worldwide
Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.passapply.com/allproducts

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © passapply, All Rights Reserved.

Powered by TCPDF (www.tcpdf.org)

Latest 642-902 Dumps | 642-902 PDF Dumps | 642-902 VCE Dumps                                7 / 7

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.passapply.com/642-902.html
https://www.passapply.com/642-902.html
https://www.passapply.com/642-902.html

